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&= K =SEKFELERKEIOMPa m2 2,500

ILT7—isE Bl 1,500

nor& V) —hak m3 4,200 |JEHHERAEL=16.0kmEL
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T Ff L] A Bl Hi & BT 5 1
ER AR S T BN 1
Wi (18 T BN 1
SEREE R t=30mm, $k
Tl BRI A5 E 7R
Wrim &1 T VY m3 0. 007
SEREIE R t=50mm, $k
Wrim &1 T gLy BRI A B e m3 0. 009
a7 U — kil
oy WEfF 7 ) — K m3 0.016
OOEILEAT = 1
OOVEFUIEO. 25mm, KT
OOFEIREAT | ATE m 0.35
OOVEFUIEO. 30mm, KT
OOFEINEAT | ATE m 0.75
O OEN ST BN 1
OOEI S T m 0. 65
a7 U — kil
7 IS m3 0. 002
SURAE L BN 1
Bh A e T Rc -TITH®RER = 1
ST m2 0.72
S H A SfE L m2 0.72
FIRFIE A M R % g
Y BEFE 2[4 m2 1. 44
SRVAAITE 5 - g
Ga ) i B (EIE) m2 0.72




AT HORE T R

~

T Ff L] A Bl Hi & BT 5 1
FHRHITE 5 > IR R L
8y %o 1EY Y m2 0.72
FR I FodE T BN 1
MV HEE L X VTR
3 S AEE L &2 L m3 0.015
TR %R, w=1200kg/m
FHAE 7ok 3 kg 3. 84
Fr AR P m2 0.18
[l BN 1
B S — LA R
T BN 1
o— Lkt PSS L 3.73
BUEE T aiE T BN 1
a7 Y—k o ck=18N/mm2 m3 0. 04
MG € L & L m3 0.011
T /NRRETE ) m2 0.75
H ikt L7 ALA K, t=10mm m2 0.18
Fyre T t=1cm m2 0. 63
av 7 U — NuE
L EAEEY ., AL m3 0.003
a7 U — kil
7 WEfF 7 ) — K m3 0.003
T TAdE T X 1
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~

T Ff L] A Bl Hi & BT ¥ & 1
Wi (18 T BN 1
EBHEME )R t=30mm, $LfH
Tl BRI A5 E 7R
Wrim &1 T VY m3 0.013
a7 U — kil
oy WERF 7 ) — K m3 0.013
T A R T BN 1
B )=t AV MEVEVER
ST PPT{E %5 Tik BN 1
o0 T MERF 7 U — k. t=70mm m2 40. 04
¢ 35x510, BINEEAN. HIZ
FEFRHEI LT i & T 60
T A ALER T 15 JE K PV m2 38. 56
t=lmm, ~ 27 %7 A »[F%
TH®Y T b m2 38. 56
AT L, t=10mm, ~ 27 K7
AREREIE T A R m2 38. 56
FENi] SD345, D16~D25 kg 2,097
Bk T (0 AJEHE) [D25 & T 60
EiH T (7 LT —
B D22 T 64
RY<w—% A2 MR, t=69mm, <27 %7
BT L A VA5 m2 39. 30
Hls A > & =2 Bt
T FEZ' Y v RE)% & m2 39. 30
#ET m2 40. 04
Kifpril T f Ak m2 40. 04
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T Ff L] A Bl Hi & BT 5 1
%L B RS Yy, 1=30m Hm2 56. 70
SREA L—Z—E, TR m2 1.15
a7 Y — Mk
7 WERF 7 ) — K m3 2.83
Vet xR T BN 1

R RARFTRX L BN 1
S R ik SPIT7R, L=5. Om t 7. 44
Gl 2= 8 O A PR
iy Ay Ty 7, ~E—H2 t 1.19

MERAS Tar~T
SRMAT HIAA | T, L=15mLL T e 4
WEEA, Mk, I, 50

SARMFT HIAZL  |<Nmax =100, L=6mPL F e 27
B E AREHE 2+
51 1
SRR AR G0 T 7 A G, oA # 31

g7 Y — b

T BN 1
a7 Y—k o ck=18N/mm2 m3 41. 31
T I EY m2 12.92
SR RC-40, t=20cm m2 119.21
R E ¢ 5x150x150 m2 108. 69
H s TIAL A, t=10mm m2 4. 56
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T Ff L] A Bl Hi & BT 5 1

Fyr T t=1cm m2 11.18

Lo T BN 1
N~y b t=500, 1000 x 2000 1 46
N~y b t=500, 1000 x 3000 1 6
NIy MEXA
T =500 m2 110. 00

% T. = 1

MERE R Y 5T = 1
Y T m2 38. 40

PR RAFT R AR R

Bt T = 1
IR % & - i
=T m3 233. 33
KA+ D H T HIE - Paft - Wk 1 54

Ve xR R RER T BN 1
KA+ H T HIE - it 1A 31
K+ H T — Rk 1 13
KA+ H T — R 1 18
KA+ H T TR PR 1 18
Rt o5 T HIES {# 18
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1B IE 7 = A |Fl 7 72— bk ¢ 300, #2m
AR - ik . 2000N/3cmA i m 19. 11
AR Al 5 A
ix L = 1
KA+ H T HIFE - $EAE - ik 1 24
1B IE Y = A |Ffh 7 2 — b ¢ 300, #2m
AR - ik . 2000N/3cmA i m 19. 11
A Tk H 6. 00
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T Ff L] A Bl Hi & BT 5 1
TS T BN 1
Wi (18 T BN 1
SEHEME I t=30mm, $K%
Tl BRI A5 E 7R
Wrim &1 T VY m3 0. 007
SEHEME I t=50mm, Bk
Wrim &1 T gLy BRI A B e m3 0. 009
a7 U — kil
oy WEfF 7 ) — K m3 0.016
OOEILEAT = 1
OOVEFUIEO. 25mm, KT
OOFEIREAT | ATE m 0.35
OOVEFUIEO. 30mm, KT
OOFEINEAT | ATE m 0.75
O OEN ST BN 1
OOEI S T m 0. 65
a7 U — kil
7 IS m3 0. 002




Mol Wi EE T

7Byz:%ﬁ

—

X 93
FHBI LR B 2V B &
WrEE T
A 1= 0.300%0. 150%1 = 0.045
SEHHEEE  t=30m | A 2= 0. 150%0. 150%1 = 0. 023
m, EkFHr L. A 3= 0.200%0. 4001 = 0.080
BhEHALEE & 5 & 77
VY At mfE
A = 0.045+0.023+0.080 = 0.148
BEHATE
V = 0.148%0.030 = 0.004
0. 004 m3
Wri &1 1T
A 1= 0. 100%0. 100%1 = 0.010
SEHMEEE  t=50m | A 2= 0.100%0. 100%1 = 0.010
m, Lo A 3= 0.400%0. 100%1 = 0. 040
[ i LB - G e
At A
A = 0.010+0. 010+0. 040 = 0. 060
BEHATE
V = 0.060%0.050 = 0.003
0. 003 m3
a7 — N
45 V = 0.004+0. 003 = 0. 007
a7 ) — |k 0.007 m3
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fE Rl riEfEE T
Tuaw 7 o EMT
X s
HHRL S B 2\ B &
Wri e T
A 1= 0.100%0. 200%1 = 0. 020
SESHEEE  t=30m | A 2= 0.350%0. 100%x1 = 0. 035
m, $kFprL Lo A 3= 0.250%0. 100%1 = 0.025
BisHaLEE 2 & F 72 | A 4= 0.250%0. 100%1 = 0. 025
[/\
AEtifE
A = 0.020+0. 035+0. 025+0. 025 = 0. 105
A RtHATE
V = 0.105%0.030 = 0.003
0.003 m3
a7 U — kil
g V = 0.003
a7 ) — b 0.003 m3
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A=A v
X A

A B

i3 2\ X

i

IEn

Wri e T

A t=50m
m, AL
Bisk 0 % 4 b

A 1= 0.800%0. 150*1 = 0.120

A
V. = 0.120%0.050 = 0.006

0. 006 m3

a7 ) — hakilL
§7\

a7 ) — b

V = 0.006

0. 006 m3
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0.75 m

Allsl]
OUHEINEAT
L = 0.750

OOVEIFUIEO. 30mm
, IREFEALE
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0.35 m

I
OOERNIEAL
L = 0.350

OOHIFUIEO. 25mm
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2
LI L0 T AES mEd L
(T\ y /[
] . )
R — )
TEL itk i N T
Dz
T 30mm X J& X 2mm & R E
TR RIER,
w=1700kg,/m3 W = 0.030%0. 002%1700%10. 000 = 1. 020
1.02 kg
PEAB \
OO LR E50mm & (R E
TRX HIER,
w=1200kg,/m3 W = 1/2%0. 00025%0. 050%1200%10. 000 = 0. 075
0.08 kg

EAG R

IREEALR, 30cm

i P e

FRIEMRE30em & {5 E

N = 10.000/0. 30 = 33.33

33 i
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2
LI L0 T AES mEd L
(T\ y /[
] . )
R — )
TEL itk i N T
Dz
T 30mm X J& X 2mm & R E
TR RIER,
w=1700kg,/m3 W = 0.030%0. 002%1700%10. 000 = 1. 020
1.02 kg
PEAB \
OO LR E50mm & (R E
TRX HIER,
w=1200kg,/m3 W = 1/2%0. 00030%0. 050%1200%10. 000 = 0. 090
0.09 kg

EAG R

IREEALR, 30cm

i P e

FRIEMRE30em & {5 E

N = 10.000/0. 30 = 33.33

33 i
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HIR S 5 EN R B

OOVEILF I T

L 1= 0.300

L 2= 0.150

ARHEER
L = 0.300+0.150 = 0.450
0.45 m

a7 — N
g V= 0.450%0.001/10 = 0.001
MRS IEY 0.001 m3




Mo ORI R T
A= A £ i
X s
HIR S 5 EN R B
OOVEILF I T
L = 0.200
0.20 m
a7 Y — N
g V = 0.200%0.001/10 = 0.001
MRS IEY 0.001 m3
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A Bl OB FRE T
#H K - 10. 000m¥4 v
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VUEINBET (ETATE)
(RYT—EAVFRELENL)

TS5AR—%%K
1
‘EKH_i
VUEA
GEEaRZE/ES)
MBS B = i %
FEIEAS
RYy~=—EA b V = (1/2%1/4% 7 *0. 010" 2+0. 010%0. 010)*10. 000 = 0. 001
0.001 m3
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SURAE L BN 1
B dE T Rc-TTTHRIER = 1
IRPEV m2 0.72
S Hi R SfE L m2 0.72
FIRFIE A M R % g
Y BEF®E 2[4 m2 1. 44
FHRFITE 5 > F AR Uk
) R EIE) m2 0.72
FHRHIE 5 > IR R L
8y W 1EY Y m2 0.72
FR I FodE T BN 1
MV HEE L X VSR
3 MG E L &L m3 0.015
TR % RE, w=1200kg/m
FHAG 7otk 3 kg 3. 84
Fr AR P m2 0.18
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A=0. 025%0. 400*3*2*%12=0. 720

0.72

m2

STk

SfEA LV

A=0. 720

0.72

m2

T Y

SEVAAIIY AN K
* IR i
R

A=0. 720%2=1. 440

1.44

m2

i

SRVARITY 5> HoH
Rk R 1
EER)

A=0.720

0.72

m2

ey

SEVAAITY 5> ok
TR L L]
D

A=0. 720

0.72

m2
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i BIER
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KT /L X VT
1

FSING e P

V=0. 400%0. 400%* (0. 028+0. 035+0. 030) =0. 015

0.015 m3

il [=p ot

TARF MR, w=

1200kg/m3

W=0. 400%0. 400% (0. 001+0. 013+0. 006) *1200=3. 840

3.84 kg

FEH

A=0. 400%4% (0. 001+0. 013+0. 028+0. 035+0. 030+0. 006)=0. 181

0.18 m2
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T Ff L] A Bl Hi & BT 5 1
MG s T BN 1

MBS — LA R

T BN 1
o— Lkt PSS L 3.73

BUEE T aiE T BN 1
a7 Y—k o ck=18N/mm2 m3 0. 04
MG € L & L m3 0.011
T /NRRETE ) m2 0.75
H ikt T 7 ALA K, t=10mm m2 0.18
Fyre T t=1cm m2 0. 63
oy — NuE
L IEAEEY ., AL m3 0.003
a7 U — il
it WERF 7 ) — K m3 0.003




il B MBS — VB R E T
Tuay 7 B — M EE T
X s
TR k% I = % &
S — UKt
ALFBEH
v arF V1=0. 400% (0. 035%0. 020+0. 045%0. 025) *1000 =0. 73
A2AEBED
V2=0. 400% (0. 020%0. 020+0. 050%0. 025) *1000 =0. 66
P 1A B
V3=(0. 400+0. 250) * (0. 080%0. 040+0. 020%0. 020) %1000 =2. 34
A3 V=0.73+0. 66+2. 34=3. 73
3.73 L




—

M B B T EE T
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i
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a7 )—hr

o ck=18N/mm2

V=0. 300%0. 760*0. 092%2=0. 042

.04 m3

MY HEE L2 L

V=0. 300%0. 200%0. 092%2=0. 011

.011 m3

I

/NI

A=0. 960%* (0. 300+0. 092) *2=0. 753

.75 m2

ER:ib7)

TTALZA N, t=
10mm

A=0. 092%0. 960*2=0. 177

.18 m2

For T

t=1lcm

A=0. 300%* (0. 960+0. 092) *2=0. 631

.63 m2

a7 Y — NEUE
L

B IEY . AT
Jii T

V=1/2%0. 250%0. 092*0. 300=0. 003

. 003 m3

a7 Y — Fkil
H

= 7 ) — b

V = 0.003

. 003 m3
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Wi (18 T BN 1
SEEHEIE R t=30mm, 8K
Lo BhERAER A A E e
Wrim &1 T VY m3 0.013
a7 U — il
oy WERF 7 ) — K m3 0.013
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Rl ErmEfEE T
Ty L
X s
HHRL S B = B &
Wri e T
A 1= 0.350%0.600% 1 = 0.210
SESHEEE  t=30m | A 2= 0. 150%0. 150% 1 = 0. 023
m, $kFprL Lo A 3= 0.100%0. 150% 1 = 0.015
PhgsalER A& £ 72| A 4= 0.300%0.650% 1 = 0.195
[/\
AEtifE
A = 0.210+0. 023+0. 015+0. 195 = 0. 443
A RtHATE
V = 0.443%0.030 = 0.013
0.013 m3
a7 Y — N
g V =0.013
a7 ) — b 0.013 m3
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T A R BN 1
B )v=t AV MEVEVE
ST PP L [R5 Tik BN 1
o0 T MEF 7 Y — k. t=70mm m2 40. 04
¢ 35x510, BINEEAN. HIZ
FETRHI LT i & T 60
T A ALER T 15 JE K PV m2 38. 56
t=lmm, ~ 27 %7 A »[F%
TH®Y T b m2 38. 56
AT L, t=10mm, ~ 27 R 7
AREREIE T A R m2 38. 56
FENi] SD345, D16~D25 kg 2,097
Bk T (0 AJEHE) [D25 (515 60
ST (7 LT —
B D22 &5 64
RY<w—% A2 MR, t=69mm, <27 %F
BT L A VA5 m2 39. 30
Hls A > & =2 Bt
T FEZ' Y v RE)% & m2 39. 30
#ET m2 40. 04
Kk L —fiRERLE m2 40. 04
BT B RS Y, 1=30m Hm2 56. 70
SRR L— 4 —E, FThE m2 1.15
a7 U — il
Pt WEfF 7 ) — |k m3 2.83
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fil B K )=t MEVIVESE T
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X Ak

HI Bl N B &
e X/IN
A=1/2% (7t %1. 540+2. 600%2+ 1t *2. 840+2. 600%2)
fEfa 7 U — | *3. 250%1. 0198 (& Hb) =40. 038
. t=70mm 40.04 m2
HAEIFL LT
N=60
¢ 35x510, #HAGTE
A, HIZEE 60 & AT
T H LR T
A=1/2% (7t %1. 398+2. 600%2+ 1t *2. 698+2. 600%2)
K e %3, 250%1. 0198 =38. 559
38.56 m2
&Y T
A=38. 559
t=lmm, ~ 7 %7
SR 38.56 m2
REREIE T
A=38. 559
AT T, t=10mm,
~ X T A RE
S 38.56 m2
E5Ni]
BpEER LY
SD345, D16~D25
D25 889kg
D22 1208kg
ik 2097kg
2,097 kg
SR L (A )JLEH)
N=60
D25
60 1 Pt
P T (7 LT —
a82) N=64
D22 64 1 Pt
R)~w—t X b
ENITT A=1/2% (40. 038+38. 559) =39. 299
AT T, t=69mm,
~ T 3T A Ak
S 39.30 m2
i A > o 2 BUhS
T A=39. 299
FEZ U v RIS, 39.30 m2
#AT
A=40. 038
40.04 m2
FE PR T
A=40. 038
— R
40. 04 m2




fil B K )=t MEVIVESE T

a7 o PG

X 53
AL Btk & EN &
5T
HEEREY, H SV
=30m m foo 4o
. / !
|
15‘40
\
I =z ‘ 2
zs%o
\
g |
JEIFE I 2> & O AHNE 2 50em, R 1E % 60cm & ET 5,
A=1/2% (7t %3. 140+2. 600%2+ 7t *4. 440+2. 600%2)
*3. 250%1. 0198 =56. 697
56. 70 $Hm2
BRI X
A=1/4% 7 %3, 000" 2+2. 600%3. 000
L—Z—RE T —(1/4% £ %2. 840" 2+2. 600%2. 840) =1. 150
DS 1.15 m2

a7 — PR
H

fEfa 7 U — |

V1=40. 038%0. 070 =2. 803
V2=1/4% 7t %0. 035 2%0. 510%60 =0. 029

AEF V=2.803+0. 029=2. 832

2.83 m3
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T Ff L] A Bl Hi & BT 5 1
Vet xR T BN 1
PRARFTRX L BN 1
S R ik SPIT7R, L=5. Om t 7. 44
Gl 2= 8 O A PR
iy AY Ty 7, ~E—H2 t 1.19
MERAS Tar~T
SRMAT HIAA |, L=15mLL T e 4
WEEA, Mg, I 50
SARMFT HIAZ  |<Nmax =100, L=6mPL F e 27
TR E AREHE 2+
I 1
SRR ARG T 7 A G, oA # 31
a7 Y—b
T BN 1
a7 Y—k o ck=18N/mm2 m3 41. 31
T IS m2 12.92
SR RC-40, t=20cm m2 119.21
R E ¢ 5x150x150 m2 108. 69
H ikt T 7 ALA K, t=10mm m2 4. 56
Fyre T t=1cm m2 11.18
LI LT = 1
N~y b £=500, 1000 x 2000 I 46




i gl Ll B HLAT = i
NI~ v FI  [t=500, 1000 x 3000 18 6
MW=y MEZAT
JT =500 m2 110. 00




B SRR TR L
7myz:%%WH§I

X 53

Al B

i

IEn

IR AR

SPIIRY, 1=5. Om,

W=5. 00*0. 048*%31=7. 440

7.44 t

Gl R S R A

=N

/A AN =
—H2

W=0. 800*0. 048*31=1. 190

1.19 t

HRIRFT B 1A P

HER AL TN
U~ T, AL, 1=
15mPL T

N=4

HRAAT BiA T

A, ki
o2, 50<Nmax=1
00, L=6mLA T

N=31-4=27

27 %

IESEEWAN: S D)
b)

N=1

I RAR G T T

7 A, TR

N=31

31 %




—ARE

fE Bl E=a 7 ) — R

7 u y/&\ : PUAG AR

X ol
HI B = &
a7 J—F
V=(5. 000%0. 500+1/2% (0. 500+0. 300) *0. 600%2
o ck=18N/mm2 +3. 100%0. 300%2) *7. 600— (1/4% 7 ¥3. 000" 2
+2. 600%3. 000) *0. 500 =29. 350
29.35 m3
Tl
A=0. 300%7. 600%2+5. 000%0. 500
RS +1/2% (0. 500+0. 300) *0. 600%2+3. 100%0. 300%2 =9. 400
9.40 m2
FEEeA
A=7. 600%12. 400— (1/4% 7 ¥3. 000" 2+2. 600%3. 000) =79. 371
RC-40. t=20cm
79.37 m2
VAR E
A=T7.300%12. 200— (1/4% 7 ¥3. 200" 2+2. 600%3. 200) =72. 698
¢ 5x150x150
72.70 m2
A4
A= (7 *3. 000+2. 600%2) *%0. 500=7. 312
t=lcm

7.31

m2
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i Bl R a 7 ) — L

Ty s AEEED

X s

Al S

B 20 X

g

a7 J—F

o ck=18N/mm2

V=1/2% (6. 461+7. 600) *2. 829*0. 300=5. 967

m3

T

TR S

A=0. 300% (2. 918+2. 860) =1. 733

m2

R

RC-40, t=20cm

A=1/2% (6. 461+7. 600) *2. 829=19. 889

19. 89

m2

Pt i

¢ bx150x150

A=1/2% (6. 261+7. 400) *2. 629=17. 957

17.96

m2

ER:ir7)

TTASAA b t=

10mm

A=7.600%0. 300=2. 280

m2

A

t=1cm

A=6. 461%0. 300%1. 0198 (£3tkk) =1. 977

m2
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Tav 7 o A2EBER

X A

Al B

5 2\ X

i

IEn

a7 )—hr

o ck=18N/mm2

V=1/2% (6. 187+7. 600) *2. 894*0. 300=5. 985

5.99

m3

I

S

A=0. 300%* (3. 021+2. 945) =1. 790

1.79

m2

AR

RC-40, t=20cm

A=1/2% (6. 187+7. 600) *2. 894=19. 950

19. 95

m2

it R

¢ 5x150x150

A=1/2% (5. 987+7. 400) *2. 694=18. 032

18. 03

m2

ER:ib7)

TTALA B t=

10mm

A=7.600%0. 300=2. 280

2. 28

m2

For T

t=1lcm

A=6. 187%0. 300%1. 0198 (£+k+)=1. 893

1.89

m2
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A BIER
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IEn

N~ bL

t=500, 1000 x 200
0

N=19+27=46

46

—

]

N~ T

t=500, 1000 x 300
0

N=4+2=6

NIy MEAST
L

t=500

A=1. 000%2. 000%46+1. 000*3. 000*6=110. 000

110.00 m2




TR AR

ik

T Ff L] A Bl Hi & BT 5 1
% T. = 1
MERE R Y 85T = 1
Y T m2 38. 40
PR RAFT R AR R
Bt T = 1
IR % & - i
=T m3 233. 33
KA+ H T HIFE - $EAE - ik 1 54
Ve xR R RER T BN 1
KA+ H T HIE - it 1 31
K+ H T — Rk 1 13
KA+ H T — R AR 1 18
KA+ H T TR PR 1 18
K+ H T ik 1 18
VG IE 7 = > A (Bl 7 2 — K ¢ 300, H2m
AR - ik . 2000N/3cmA i m 19. 11
AR Al 5 R A
T BN 1
KA+ H T HIE - Paft - ks 1 24
VG IE 7 = > A (Bl 7 a2 — K ¢ 300, H2m
AR - ik . 2000N/3cmA i m 19. 11




— AR

o

9 s Y BT
Tuav o fHERRY BT
=S s
WL = EN X B &
NN

A=1. 500%6. 400%4=38. 400

38.40 m2




o — R
fil B s B RARFT ER RF R T
T a7 HRMGTRR R R 1 T
X s

l x4 \M 18.60| ©
l 16.88
l 1
o
l o
°
/ o PN s %
18.48 o
_— 2
18.49
3 iy
1
— o
B 16.99
g | 20.7) .
i 271 NO.2 /4 e 17.15 1630
20.73 y
. T
ke NO3[ _ _ I , _ v} nas _
2.3 ) e BT (0 4 o ‘mxuu 2.00! e
) |BOX=3. 40
|
e —
20.89 T 16.79 7.4 o e 2 AN —
18.27.
N NO. 4 T 77
| J— N
— 19.18 (£03 4
\ // s . 18.57
I o g
2.0 we [0 2
o W, =
2 o
il R w2 =
) \sd
' S)
o 0 O
19.22 )
20.89 9 17.85 \,\
06 ok = - me Lol
17.76
e} Z
0 B "
17.97 > ‘ ‘
i ’ &
e [q d
k ‘7\'77 wwa
| A | | ‘TG}3" “
s | = 17.88
‘ T R
9.77 ! ! | !
! | | |
19. 31 _— ,,r,,
® ! :*Elil&)jn'y,’y LR ,
-1 |
[ e B T SN
17| | | | | | | | [
18, | | | | |
19.09) 19.05 18.58
19.05
co
19.21
A co
! c0
19
19.38 19.58

A-ABTE

fREkE+ T
A=20. 74m2




o — i
B SRR TR R R T
TZ Elsz(: F R AFT R R RS 1 T

77 .

X
VAL 7 BN T
e Tt -
£ V=20. 74*11. 250=233. 325
233.33 m3
KHEDS T,
N=b4

HifE - P - ik
o4 i




IEn

B
=L
&

BB PR
Ve AY

S
FI A

KA+ 5 T
N=8%2+15=31

HE - Pafrd
KE+n 9 T
N=31-18=13
— ML
13 &
KE+n 9 T
N=18
— IR E
18 &
18 &

BT

el

—

31

KA+ 5 T
) N=18
ZIRFFRRE
KEI+0 5 T
N=18
18

iGN

1B IE 7 = >
RIE - i 1=19. 11
19.11 m

i

B 7 o— R ¢30
0. &=2m, 2000N/3

cmAi




BB AR R T
77 ¢ RIS L

X

73

Al BIER

i

IEn

KA+ 5 T

HE - e - ik

N=24

24

—_

]

VYRS IE 7 = v &
X E - s

B~ o — bk ¢ 30
0. &2m, 2000N/3
cmAi

L=19. 11

19.11 m




